

MEETING DATE: June 8, 2020

AGENDA ITEM: Consider Approval of 2019 Bond Program Elementary School Furniture Replacement, Phase 2 and Furniture for Walsh Elementary School

PRESENTER: Earl Husfeld, Chief Financial Officer

BACKGROUND INFORMATION:

- Per Board Policy CH (Local), any single, budgeted purchase of goods or services that costs \$50,000 or more, regardless of whether the goods or services are competitively purchased, shall require Board approval before a transaction may take place.
- 2019 Bond Program furniture purchases:
 - Funds were included in the 2019 Bond Program that provided for the replacement of furniture at Coder Elementary School, Stuard Elementary School, and McCall Elementary School.
 - On January 17, 2020, a 15-member group comprised of Elementary School Principals, Curriculum Specialists, Superintendent, Deputy Superintendent, Assistant Superintendent of Curriculum & Instruction, Director of Construction & Facilities, and Chief Financial Officer visited the showroom of Lone Star Furnishings, LLC (Lone Star). During this visit, it was shared with the group what has changed with school furniture since the District made the Walsh Elementary furniture purchase. The group was also shown samples of current furniture options. Prior to the visit to Lone Star, the staff at Walsh Elementary was provided the opportunity to share what they liked about their classroom furniture and what could be improved upon.
 - Based on the feedback from the Walsh Elementary staff and the 15-member group that visited Lone Star, selections for classroom furniture were chosen for viewing/testing by the staff at each elementary school campus. Starting the week of February 3, and continuing through February 19, these samples were rotated among each of the elementary school campuses so the campus staff could provide their feedback on the selections made.
 - Based on this additional feedback from campus staff, a sub-group of the 15member group made refinements to the selections of classroom furniture that are presented to you this evening for review and consideration.
 - Phase 1 of the furniture order was presented to you at the March 23, 2020 regular board meeting. The final cost of the Phase 1 furniture replacement was \$1,441,318.60.
 - Phase 2 of the furniture order being presented to you this evening comprises the remainder of the furniture replacement. As we shared with you during the



- March 23 meeting, Phase 2 includes areas such as "specials" classrooms (ESL, Functional Academics, Dyslexia, Kindergarten, etc.) and libraries.
- The 2019 Bond Program cost of the Phase 2 classroom furniture is \$317,523.01, while the bond cost of the library furniture items is \$41,158.39.
- Walsh Elementary School (Walsh) furniture purchases:
 - To accommodate additional teaching positions added at Walsh for the 2020-2021 school year, some non-classroom spaces are being converted to classrooms for one year and must be furnished with student desks, tables, and chairs.
 - Because Walsh only needs this classroom furniture for the 2020-2021 school year, it was determined the prudent course of action, and cost effective, was to pre-order a small portion of classroom furniture that will ultimately be utilized at Elementary School No. 6 during the 2021-2022 school year (\$37,315.72).
 - This is one example of the benefits of standardizing elementary school classroom furniture throughout the District.
- General Fund 199 furniture purchases:
 - The final component of the Walsh furniture purchase (\$15,057.13) is attributable to items that will remain at Walsh after the 2020-2021 school year. These items are necessary to accommodate the additional teaching positions and current instructional methods.
 - Additional classroom furniture purchases for elementary schools that are attributable to 2020-2021 projected student enrollment growth and additional teaching positions is proposed to be paid from General Fund 199 (\$34,638.66).
 - In an effort to further update the learning spaces in the libraries at Coder, McCall, and Stuard, it is proposed that General Fund 199 provide additional funds in the amount of \$26,414.18 to supplement the furniture replacement monies available in the 2019 bond program. These additional funds will greatly enhance the library environments as they transition into more of an instructional hub for each of these campuses.
- To ensure best pricing and value, the District utilized the Educational Purchasing Cooperative of North Texas (EPCNT) cooperative purchasing method to obtain pricing from Lone Star Furnishings, LLC.

FISCAL INFORMATION:

Phase 2 amount of \$358,681.40, coupled with the Phase 1 purchase, will exhaust the \$1,800,000.00 that was included in the 2019 Bond Program for furniture replacement at



Coder, McCall, and Stuard Elementary Schools. \$37,315.72 will be allocated to Elementary School No. 6 furniture, fixtures, and equipment in the 2019 Bond Program. \$76,109.97 (\$15,057.13 plus \$34,638.66 plus \$26,414.18) will be paid from available budget funds in General Fund 199.

ATTACHMENTS:

Quotes from Lone Star Furnishings, LLC for Phase 2 Refresh at Coder Elementary School, McCall Elementary School, and Stuard Elementary School (classrooms and libraries), and for Walsh Elementary School.

ADMINISTRATIVE RECOMMENDATION:

The Administration recommends the Board of Trustees approve the proposals submitted by Lone Star Furnishings, LLC for the purchase of furniture for Coder Elementary School, Stuard Elementary School, McCall Elementary School, and Walsh Elementary School as presented.



03-Jun-20

4301 Reeder Dr Suite 100 Carrollton, TX 75010 (888)755-1836(O)

Aledo ISD - Coder Phase 2 Refresh

<u>Ship To:</u> Coder Elementary 12 Vernon Rd Aledo, TX 76008		<u>Sold To:</u> Aledo ISD 1008 Bailey Ranch Rd Aledo, TX 76008	Quote Info Quote # 11687 Revision # 5th Revision 6/3/20			
<u>Commer</u>	<u>nts:</u>	Install Dates:	Sales RepKelly TicknorEmail:kelly@lonestarfurnishiPhone:(972)971-3981Sales CoordinatorRebecca Simpson		onestarfurnishings.com 1-3981	
MFG	Model #	Description	QTY	Sell	Extended	
FOMCOR	E FK007-Z	Lilly Pad Cushion with removable cover, 18"Dia x 3"H	28	\$76.53	\$2,142.84	
HON	H5715	Volt 5720 Series Task Stool Mesh Bck Pneu Adj Ht Footring	15	\$326.04	\$4,890.60	

SMITH SYSTEM

50

04503	Interchange Wing Open Front with book box,23.5"Dx41"Wx21.5-31.5"H	48	\$181.33	\$8,703.84
SMITH SYSTEM				
17576	3" Casters, Set of 4 all Locking, Black for Interchange Wing Desks	36	\$40.53	\$1,459.08

MFG	Model #	Description	QTY	Sell	Extended
SMITH SY					
	33847	Groove Stack Chair, 14"H B-SHELL, 18.5"Dx17.5"Wx14"H	96	\$50.67	\$4,864.32
SMITH SY	STEM				
	33848	Groove Stack Chair, 16"H B-SHELL, 18.5"Dx17.5"Wx16"H	72	\$52.80	\$3,801.60
SMITH S Y	STEM				
	33849	Groove Stack Chair, 18"H A-SHELL, 20.5"Dx19.5"Wx18"H	95	\$58.13	\$5,522.35
SMITH SY	STEM				
	33855	Groove Mobile 18"H Stack Chair on Casters, 21"Dx19"Wx18"H	6	\$74.13	\$444.78
SMITH S Y	STEM				
	33889	Groove 24"H Fixed Height Stool, 20"DX29"WX24"H	8	\$79.47	\$635.76
SMITH SY					
-	55000	Soft Rocker	18	\$372.80	\$6,710.40
SMITH S Y	STEM				
	910009093P	Cascade Mega-Tower (Casters) Open w/ 9x3" 9x6" 3X12" totes, 19"D x 43"W x 61.4"H	14	\$1,065.07	\$14,910.98

MFG	Model #	Description	QTY	Sell	Extended
SMITH SYS	STEM 911000000P	Cascade Mega-Tower (Casters) Open w/ Shelves, 19"D x 43"W x 61.4"H	3	\$661.87	\$1,985.61
	STEM EL42RD	42" Round Elemental Table	6	\$253.33	\$1,519.98
	STEM EL48RD	48" Round Elemental Table	1	\$258.67	\$258.67
SMITH SYS	STEM EL5S60	60" 5-Star Engage Elemental Table	12	\$466.13	\$5,593.56
	STEM ELENTR	Trapezoid Engage Elemental Table	36	\$269.33	\$9,695.88
SMITH SY	STEM UPCHARGE	Smith upcharge for writable surface	1	\$400.00	\$400.00
vsa	01470-S	*Special* Puzzle FreeForm Table, Amoeba-Shaped Table Top, 65"Wx44-7/8"D	12	\$868.00	\$10,416.00

MFG	Model #	Description	QTY	Sell	Extended
VSA	03813	HOKKI, Plastic Stool for Active Seating - Standard Seat 15"-19 3/4" Adj Height	17	\$148.00	\$2,516.00
VSA	03825-4	HOKKI, Plastic Stool for Active Seating - Standard Seat 15" Height	30	\$83.20	\$2,496.00
VSA	03825-6	HOKKI, Plastic Stool for Active Seating - Standard Seat 18" Height	15	\$92.80	\$1,392.00
VSA	2829	RondoLift, Sitting/Stand-At Table, Column Frame with Cross Base and Gas Lift, 47-1/4"Wx33"Dx27-1/4-44.5"H	15	\$1,608.00	\$24,120.00
VSA	45303	Shift+ Landscape Double Sided Low Cabinet with (8) Insertable Shelves, middle partition center, 2 Sliding Handles, (total) 43"Wx20.25"Dx45.5"H	24	\$1,008.00	\$24,192.00
VSA	45319	Shift+ Landscape Teacher's Low Mobile Cabinet, 2 locking Casters, 2 Open compartments at bottom w/adj shelf ea, 1 compartment w/locking door and file Drawer, 46-1/4"Wx45-1/2"Hx21-1/4"D	15	\$1,084.80	\$16,272.00
ZFREIGHT	FREIGHT	Freight	1	\$3,450.00	\$3,450.00

MFG	Model #	Description	QTY	Sell	Extended
ZLABOR	LABOR	Labor to receive, deliver and place product for Phase 2 per client's direction	1	\$12,600.00	\$12,600.00
		-	Total:	\$170,994.25	
	PPROVAL:		DATE:		



03-Jun-20

4301 Reeder Dr Suite 100 Carrollton, TX 75010 (888)755-1836(O)

Aledo ISD - McCall ES Phase 2 Refresh

	ementary ic Trail Dr.	<u>Sold To:</u> Aledo ISD 1008 Bailey Ranch Rd	Quote Info Quote # 11 Revision #			
	ark, TX 76087	Aledo, TX 76008	4th Revision 6/3/20			
<u>Comme</u>	<u>nts:</u>	Install Dates:	Sales Rep Email: Phone: Sales Coordi	Kelly Ti kelly@l (972)97 inator Rebecc	onestarfurnishings.cor 1-3981	
MFG	Model #	Description	QTY	Sell	Extended	
HON	H5715	Volt 5720 Series Task Stool Mesh Bck Pneu Adj Ht Footring	9	\$326.04	\$2,934.36	
JONTI-C	RAFT 2411JC011	Maplewave Culinary Creations Kitchen 4 Piece Set, Includes Refrigerator, Cupboard, Sink and Stove, Total Dims 35" High x 80" Wide x 15" Deep	1	\$981.00	\$981.00	
SMITH S	YSTEM 04503	Interchange Wing Open Front with book box,23.5"Dx41"Wx21.5-31.5"H	52	\$181.33	\$9,429.16	
SMITH S	YSTEM 17576	3" Casters, Set of 4 all Locking, Black for Interchange Wing Desks	30	\$40.53	\$1,215.90	

MFG	Model #	Description	QTY	Sell	Extended
	STEM 33848	Groove Stack Chair, 16"H B-SHELL, 18.5"Dx17.5"Wx16"H	24	\$52.80	\$1,267.20
SMITH SY	STEM 33849	Groove Stack Chair, 18"H A-SHELL, 18.5"Dx17.5"Wx18"H	124	\$58.13	\$7,208.12
SMITH SY	STEM 33889	Groove 24"H Fixed Height Stool, 20"DX29"WX24"H	8	\$79.47	\$635.76
SMITH SY	STEM 55000	Soft Rocker	6	\$372.80	\$2,236.80
SMITH SY	STEM 910009093P	Cascade Mega-Tower (Casters) Open w/ 9x3" 9x6" 3X12" totes, 19"D x 43"W x 61.4"H	11	\$1,065.07	\$11,715.77
SMITH SY	STEM ELENTR	Trapezoid Engage Elemental Table	8	\$269.33	\$2,154.64
SMITH SY	STEM ELENTR.	Trapezoid Engage Elemental Table	4	\$228.80	\$915.20

MFG	Model #	Description	QTY	Sell	Extended
SMITH SY	STEM SMINC04116	Interchange; Table-Activity, 42D x 60W	6	\$388.27	\$2,329.62
VSA	01470-S	*Special* Puzzle FreeForm Table, Amoeba-Shaped Table Top, 65"Wx44-7/8"D	7	\$868.00	\$6,076.00
T	Τ				
VSA	01470-S.	*Special* Puzzle FreeForm Table, Amoeba-Shaped Table Top, 65"Wx44-7/8"D	2	\$868.00	\$1,736.00
Ĩ	T				
VSA	03813	HOKKI, Plastic Stool for Active Seating - Standard Seat 15"-19 3/4" Adj Height	15	\$148.00	\$2,220.00
H					
VSA	03825-6	HOKKI, Plastic Stool for Active Seating - Standard Seat 18" Height	9	\$92.80	\$835.20
J					
VSA	2829	RondoLift, Sitting/Stand-At Table, Column Frame with Cross Base and Gas Lift, 47-1/4"Wx33"Dx27-1/4-44.5"H	9	\$1,608.00	\$14,472.00
VSA	45303	Shift+ Landscape Double Sided Low Cabinet with (8) Insertable Shelves, middle partition center, 2 Sliding	10	\$1,008.00	\$10,080.00
	•	Handles, (total) 43"Wx20.25"Dx45.5"H			

MFG	Model #	Description	QTY	Sell	Extended
VSA	45319	Shift+ Landscape Teacher's Low Mobile Cabinet, 2 locking Casters, 2 Open compartments at bottom w/adj shelf ea, 1 compartment w/locking door and file Drawer, 46-1/4"Wx45-1/2"Hx21-1/4"D	9	\$1,084.80	\$9,763.20
ZFREIGHT	FREIGHT	Freight	1	\$1,975.00	\$1,975.00
ZLABOR	LABOR	Labor to receive, deliver and place Phase 2 furniture per client's direction	1	\$6,850.00	\$6,850.00
		Т	otal:	\$97,030.93	
CLIENT A	APPROVAL:	D	ATE:		



03-Jun-20

4301 Reeder Dr Suite 100 Carrollton, TX 75010 (888)755-1836(O)

Aledo ISD - Stuard ES Phase 2 Refresh

Stuard Elementary 200 Thunder Head Lane Aledo, TX 76008		<u>Sold To:</u> Aledo ISD 1008 Bailey Ranch Rd Aledo, TX 76008	Quote Info Quote # 11705 Revision # 3rd Revision 6/2/20			
<u>Commer</u>	<u>nts:</u>	Install Dates:	Sales Rep Email: Phone: Sales Coordi	k (972)971-3	estarfurnishings.com 3981
MFG	Model #	Description	QTY	Sell		Extended
FOMCOR	E FK007-Z	Lilly Pad Cushion with removable cover, 18"Dia x 3"H	4	\$76.!	53	\$306.12
HON	H5715	Volt 5720 Series Task Stool Mesh Bck Pneu Adj Ht Footring	8	\$326	5.04	\$2,608.32
SMITH S	YSTEM 04503	Interchange Wing Open Front with book box,23.5"Dx41"Wx21.5-31.5"H	50	\$181	1.33	\$9,066.50
SMITH S	YSTEM 17576	3" Casters, Set of 4 all Locking, Black for Interchange Wing Desks	32	\$40.!	53	\$1,296.96

MFG	Model #	Description	QTY	Sell	Extended
	STEM 33848	Groove Stack Chair, 16"H B-SHELL, 20.5"Dx19.5"Wx16"H	80	\$52.80	\$4,224.00
SMITH SY	STEM 33849	Groove Stack Chair, 18"H A-SHELL, 20.5"Dx19.5"Wx18"H	66	\$58.13	\$3,836.58
SMITH SY	STEM 33889	Groove 24"H Fixed Height Stool, 20"DX29"WX24"H	8	\$79.47	\$635.76
SMITH SY	STEM 55000	Soft Rocker	6	\$372.80	\$2,236.80
SMITH SY	STEM 910009093P	Cascade Mega-Tower (Casters) Open w/ 9x3" 9x6" 3X12" totes, 19"D x 43"W x 61.4"H	9	\$1,065.07	\$9,585.63
	STEM EL48RD	48" Round Elemental Table	1	\$258.67	\$258.67
SMITH SY	STEM ELENTR.	Trapezoid Engage Elemental Table	4	\$228.80	\$915.20

MFG	Model #	Description	QTY	Sell	Extended
SMITH SYS	STEM SMINC04116	Interchange; Table-Activity, 42D x 60W	5	\$388.27	\$1,941.35
SMITH SYS	STEM UPCHARGE	Smith upcharge for writable surface	1	\$400.00	\$400.00
vsa	01470-S	*Special* Puzzle FreeForm Table, Amoeba-Shaped Table Top, 65"Wx44-7/8"D	5	\$868.00	\$4,340.00
vsa	01470-S.	*Special* Puzzle FreeForm Table, Amoeba-Shaped Table Top, 65"Wx44-7/8"D	1	\$868.00	\$868.00
vsa	03813	HOKKI, Plastic Stool for Active Seating - Standard Seat 15"-19 3/4" Adj Height	15	\$148.00	\$2,220.00
VSA	03825-6	HOKKI, Plastic Stool for Active Seating - Standard Seat 18" Height	15	\$92.80	\$1,392.00
VSA	2829	RondoLift, Sitting/Stand-At Table, Column Frame with Cross Base and Gas Lift, 47-1/4"Wx33"Dx27-1/4-44.5"H	7	\$1,608.00	\$11,256.00

MFG	Model #	Description	QTY	Sell	Extended
VSA	45303	Shift+ Landscape Double Sided Low Cabinet with (8) Insertable Shelves, middle partition center, 2 Sliding Handles, (total) 43"Wx20.25"Dx45.5"H	10	\$1,008.00	\$10,080.00
VSA	45319	Shift+ Landscape Teacher's Low Mobile Cabinet, 2 locking Casters, 2 Open compartments at bottom w/adj shelf ea, 1 compartment w/locking door and file Drawer, 46-1/4"Wx45-1/2"Hx21-1/4"D		\$1,084.80	\$7,593.60
ZFREIGHT	FREIGHT	Freight	1	\$3,075.00	\$3,075.00
ZLABOR	LABOR	Labor to receive, deliver and install product for phase 2 per client's direction	1	\$6,000.00	\$6,000.00
		Т	ſotal:	\$84,136.49	
CLIENT	APPROVAL:	C	DATE:		

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
6/2/2020	11637-1

COORDINATOR

JODER LEEN	ENTARY S	CHOOL	
2 VERNON F	D		
ALEDO, TX 7	5008		

SALES REP

** Quote good for 30 days**

				KT		ҮН
ITEM	DESCRIPTION	QT	Y	COST	CLASS	Total
ERG - 6242-CH	FORAY BAR STOOL, POLY, 24"H SHELL: IVY GREEN FRAME: BRUSHED ALUMINUM	6		354.38	TICKNOR	2,126.28
FOM - F005-18X18-G	ROUND FOAM OTTOMAN 18" X 18 18"H WITH GLIDES FABRIC: MOMENTUM EON, BLAZI			204.96	TICKNOR	819.84
HON - H5715	VOLT SERIES MESH BACK TASK STOOL, ARMLESS BACK: BLACK MESH SEAT: BLACK LEATHER FRAME: BLACK	1		305.66	TICKNOR	305.66
KI - SYCNC	SWAY LOUNGE CHAIR BODY: COTTONWOOD FABRIC: MOMENTUM EON, BLAZI	2 E		1,070.64	TICKNOR	2,141.28
MOO - 74955	VISIONARY CURVE MOBILE GLAS MAGNETIC DRY ERASE BOARD, GLOSS WHITE, SILVER FRAME, 72 X 40.5"W X 23.7"D			507.95	TICKNOR	1,015.90
PARA - IC-CIRC-DS-603029	IC CIRCULATION DESK SHELL, 60 X 30"D X 29"H LAMINATE: CITADEL WARP EDGE & PLASTIC ACCENTS: GRAPHITE FRAME: TITANIUM	'W 1		634.38	TICKNOR	634.38

P.O. No.

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
6/2/2020	11637-1

	SHIP TO					
	CODER ELEMENTARY SCHOOL 12 VERNON RD ALEDO, TX 76008					
ays**		P.O. No.	SALES REP COOR		DINATOR	
, -	KT YH		YH			
DESCRIPTION		QTY	COST		CLASS	Total
			803.13			

			KT		YH
ITEM	DESCRIPTION	QTY	COST	CLASS	Total
PARA - IC-CIRC-CR-723029	IC CIRCULATION DESK CORNER RADIUS, 72"W X 30"D X 29"H LAMINATE: CITADEL WARP EDGE & PLASTIC ACCENTS: GRAPHITE FRAME: TITANIUM	1	803.13	TICKNOR	803.13
SS - 01502	CAFÉ TABLE TOP ONLY, ROUND, 3 DIAMETER LAMINATE: HIGH RISE EDGE: 4MM T-MOLD, CHARCOAL	30" 2	93.00	TICKNOR	186.00
SS - 01452	CAFÉ 24"D CIRCULAR BASE - K-8 STANDING HEIGHT 36"H FINISH: PLATINUM	2	180.00	TICKNOR	360.00
SS - 25212BUTCHER	PLANNER STUDIO TABLE, FIXED HEIGHT WITH CASTERS, 36"D X 72 X 29"H TOP: BUTCHER BLOCK LEGS: PLATINUM	2"W	1,047.00	TICKNOR	1,047.00
SS - V21100000P	CASCADE MEGA-CASE AV PRESENTATION CART WITH DOOF SHELVES, CASTERS, POWER AND RISER, 19"D X 43"W X 37"H SIDE PANELS: PLATINUM RISER LAMINATE: PEWTER MESH EDGE: 4MM T-MOLD, CHARCOAL		1,287.00	TICKNOR	1,287.00

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH RO ALEDO, TX 76008

ITEM

SS - B10008040P

QUOTATION

DATE	QUOTE #
6/2/2020	11637-1

		-					
ADDRESS			SHIP TO				
D YABLE EY RANCH ROAD X 76008			CODER ELEME 12 VERNON RE ALEDO, TX 760)	OOL		
** Quote good for 30 days**			P.O. No.	SALES R	EP	COOR	DINATOR
				KT			YH
TEM	DESCRIPTION		QTY	COST		CLASS	Total
0P	CASCADE MEGA-CABINET, OPEN WITH (8) 3" AND (4) 6" EXTRA WID TOTES, 19"D X 43"W X 43.3"H SIDE PANELS: PLATINUM BACK: WHITEBOARD		3	1,080.00	TIC	KNOR	3,240.00
	GROOVE STACK CHAIR 18"H A-SHELL, 20.5"D X 19.5"W X 18"H SHELL: CHARCOAL LEGS: PLATINUM		36	65.40	TIC	KNOR	2,354.40
	CASCADE FREE STANDING, MOB	ILE	1	303.60	TIC	KNOR	303.60

	BACK: WHITEBOARD				
SS - 33849	GROOVE STACK CHAIR 18"H A-SHELL, 20.5"D X 19.5"W X 18"H SHELL: CHARCOAL LEGS: PLATINUM	36	65.40	TICKNOR	2,354.40
SS - 19199	CASCADE FREE STANDING, MOBILE DRAWER PEDESTAL, BOX/BOX/FILE PEDESTAL 21"D X 16"W X 30.25"H SIDE PANELS: PLATINUM	1	303.60	TICKNOR	303.60
SS - 55001	ROUND OTTOMAN, 26" DIA X 15"H COLOR: BEELINE, ORIOLE	1	389.40	TICKNOR	389.40
SS - 55000	SOFT ROCKER UPHOLSTERED FOAM ROCKING LOUNGE CHAIR COLOR: BEELINE, ORIOLE	4	419.40	TICKNOR	1,677.60
SS - 04155	INTERCHANGE SQUIGGLE TABLE, 41"D X 72"W X 22"-34"H LAMINATE: HIGH RISE EDGE: 4MM T-MOLD, CHARCOAL BASE: PLATINUM	6	417.00	TICKNOR	2,502.00

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
6/2/2020	11637-1

		SHIP TO					
	CODER ELEMENTARY SCHOOL 12 VERNON RD ALEDO, TX 76008						
days**	P.O. No.		SALES R	EP	COORDINATOR		
			KT YI		YH		
DESCRIPTION		QTY	COST	CLASS Tota		Total	
HEEL CASTER PACK, S		6	45.60	TICKNOR		273.60	

** Quote good for 30 days**

				KT		YH
ITEM	DESCRIPTION	C	QTY	COST	CLASS	Total
SS - 17576	3" DUAL WHEEL CASTER PACK, S OF 4, ALL LOCKING, FOR SQUIGG TABLES COLOR: BLACK		6	45.60	TICKNOR	273.60
TJ - 11601BX	DASH BENCH, STRAIGHT DESIGN 46"L X 18"W X 16.5"H COLOR: LIME	,	2	334.69	TICKNOR	669.38
VS - 03825	HOKKI, PLASTIC STOOL FOR ACT SITTING - STANDARD SEAT, 18"H COLOR: LIGHT GREEN	IVE	4	92.80	TICKNOR	371.20
VS - 03826	SOLO STOOL, 4 FOOTRESTS AT DIFFERENT HEIGHTS, 20"H SEAT: ORANGE FRAME: ARCTIC		6	118.40	TICKNOR	710.40
FREIGHT	FREIGHT		1	2,785.00	TICKNOR	2,785.00
INSTALLATION	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE TRASH		1	1,555.00	TICKNOR	1,555.00
SALES REP:KELLY TICKNOR	1		7	TOTAL		\$27,558.05

Pricing is based on the quantities listed above. A change in quantities may result in a change in pricing and freight. For any changes please contact your sales representative. SIGNATURE



PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #		
6/2/2020	11641-1		

COORDINATOR

SHIP TO

P.O. No.

McCALL ELEMENTARY SCHOOL 400 SCENIC TRAIL DR. WILLOW PARK, TX 76087

SALES REP

				KT		YH
ITEM	DESCRIPTION	QTY	(COST	CLASS	Total
ERG - 6242-CH	FORAY BAR STOOL, POLY, 24"H SHELL: IVY GREEN FRAME: BRUSHED ALUMINUM	6		354.38	TICKNOR	2,126.28
FOM - F005-18X18-G	ROUND FOAM OTTOMAN 18" X 18 18"H WITH GLIDES FABRIC: MOMENTUM EON, BLAZI			204.96	TICKNOR	819.84
FOM - F027-38X38X32-G	2-STEP SEATING WITH GLIDES, 38 X 38"D X 32"H SIDE/BACK: MOMENTUM EON, MINERAL STEPS: MOMENTUM EON, SPRING			1,125.04	TICKNOR	3,375.12
FOM- F029-38X38X32-G	TWO STEP INSIDE CORNER, 38"D 2 38"W X 32"H WITH GLIDES, STEP/SEAT HEIGHT 16.5"H SIDE/BACK: MOMENTUM EON, MINERAL STEPS: MOMENTUM EON, SPRING			1,351.57	TICKNOR	1,351.57
FOM - F028-38X38X32-G	THREE STEP FOAM SEAT WITH GLIDES, 38"W X 38"D X 32"H, FIRS STEP HEIGHT 7", SECOND STEP HEIGHT 23" SIDE/BACK: MOMENTUM EON, MINERAL STEPS: MOMENTUM EON, SPRING			1,202.93	TICKNOR	2,405.86

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH R ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
6/2/2020	11641-1

ROAD		4	AcCALL ELEM 00 SCENIC TR VILLOW PARK	AIL DR.	HOO	L			
e good for 30 days**		P.O. No.		SALES R	SALES REP		COORDINATOR		
				КТ			YH		
	DESCRIPTION		QTY	COST		CLASS	Total		
	VOLT SERIES MESH BACK TASK STOOL, ARMLESS BACK: BLACK MESH SEAT: BLACK LEATHER FRAME: BLACK		2	305.66	TICKNOR		611.3		
	SWAY LOUNGE CHAIR BODY: COTTONWOOD FABRIC: MOMENTUM EON, BLAZ	E	2	1,070.64	TIC	KNOR	2,141.2		
	VISIONARY CURVE MOBILE GLA	SS	2	507.95	TIC	KNOR	1,015.9		

SHIP TO

** Quote

			KI		111
ITEM	DESCRIPTION	QTY	COST	CLASS	Total
HON - H5715	VOLT SERIES MESH BACK TASK STOOL, ARMLESS BACK: BLACK MESH SEAT: BLACK LEATHER FRAME: BLACK	2	305.66	TICKNOR	611.32
KI - SYCNC	SWAY LOUNGE CHAIR BODY: COTTONWOOD FABRIC: MOMENTUM EON, BLAZE	2	1,070.64	TICKNOR	2,141.28
MOO - 74955	VISIONARY CURVE MOBILE GLASS MAGNETIC DRY ERASE BOARD, GLOSS WHITE, SILVER FRAME, 72"H X 40.5"W X 23.7"D	2	507.95	TICKNOR	1,015.90
SS - 01502	CAFÉ TABLE TOP ONLY, ROUND, 30" DIAMETER LAMINATE: HIGH RISE EDGE: 4MM T-MOLD, CHARCOAL	2	93.00	TICKNOR	186.00
SS - 01452	CAFÉ 24"D CIRCULAR BASE - K-8 STANDING HEIGHT 36"H FINISH: PLATINUM	2	180.00	TICKNOR	360.00
SS - 25212BUTCHER	PLANNER STUDIO TABLE, FIXED HEIGHT WITH CASTERS, 36"D X 72"W X 29"H TOP: BUTCHER BLOCK LEGS: PLATINUM	1	1,047.00	TICKNOR	1,047.00



PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #		
6/2/2020	11641-1		

		SHIP TO						
	McCALL ELEMENTARY SCHOOL 400 SCENIC TRAIL DR. WILLOW PARK, TX 76087							
30 days**		P.O. No.	SALES REP COORE		DINATOR			
			KT	YH				
DECODIDITION		OTV	0007					

** Quote good for 30 days**

** Quote ge	bod for 30 days**					
				KT		YH
ITEM	DESCRIPTION	QTY		COST	CLASS	Total
SS - B10008040P	CASCADE MEGA-CABINET, OPEN WITH (8) 3" AND (4) 6" EXTRA WII TOTES, 19"D X 43"W X 43.3"H SIDE PANELS: PLATINUM BACK: WHITEBOARD			1,080.00	TICKNOR	2,160.00
SS - 04155	INTERCHANGE SQUIGGLE TABLE 41"D X 72"W X 22"-34"H LAMINATE: HIGH RISE EDGE: 4MM T-MOLD, CHARCOAL BASE: PLATINUM			417.00	TICKNOR	1,668.00
SS - 17576	3" DUAL WHEEL CASTER PACK, S OF 4, ALL LOCKING, FOR SQUIGG TABLES COLOR: BLACK			45.60	TICKNOR	182.40
VS - 03825	HOKKI, PLASTIC STOOL FOR ACT SITTING - STANDARD SEAT, 18"H COLOR: LIGHT GREEN			92.80	TICKNOR	371.20
VS - 03826	SOLO STOOL, 4 FOOTRESTS AT DIFFERENT HEIGHTS, 20"H SEAT: ORANGE FRAME: ARCTIC	6		118.40	TICKNOR	710.40
FREIGHT	FREIGHT	1		1,395.00	TICKNOR	1,395.00
INSTALLATION	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE TRASH	1		1,160.00	TICKNOR	1,160.00
SALES REP:KELLY TICKNOR	1	I	Т	OTAL		\$23,087.17

Pricing is based on the quantities listed above. A change in quantities may result in a change in pricing and freight. For any changes please contact your sales representative. SIGNATURE

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #		
6/2/2020	11642-1		

COORDINATOR

SHIP TO STUARD ELEMENTARY SCHOOL 200 THUNDER HEAD LANE ALEDO, TX 76008

P.O. No.

SALES REP

** Quo	ote good	for 30	days**
--------	----------	--------	--------

				KT		YH
ITEM	DESCRIPTION		QTY	COST	CLASS	Total
FOM - F005-18X18-G	ROUND FOAM OTTOMAN 18" X 18 18"H WITH GLIDES FABRIC: MOMENTUM EON, BLAZ		4	204.96	TICKNOR	819.84
HON - H5715	VOLT SERIES MESH BACK TASK STOOL, ARMLESS BACK: BLACK MESH SEAT: BLACK LEATHER FRAME: BLACK		1	305.66	TICKNOR	305.66
MOO - 74955	VISIONARY CURVE MOBILE GLASS MAGNETIC DRY ERASE BOARD, GLOSS WHITE, SILVER FRAME, 72"H X 40.5"W X 23.7"D		2	507.95	TICKNOR	1,015.90
MOO - 53220-XXXX-NA-CH	HIERARCHY 4-LEG STOOL, ARMLESS, 24"H SEAT LEG: CHROME SEAT: 1 EACH OF YELLOW, ORANGE, RED, GREEN, NAVY, BLUE		6	123.74	TICKNOR	742.44
PARA - IC-CIRC-DS-603029	IC CIRCULATION DESK SHELL, 60"W X 30"D X 29"H LAMINATE: CITADEL WARP EDGE & PLASTIC ACCENTS: GRAPHITE FRAME: TITANIUM		1	634.38	TICKNOR	634.38

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
6/2/2020	11642-1

SHIP TO	SHIP TO					
STUARD ELEMENTARY SCHOOL 200 THUNDER HEAD LANE ALEDO, TX 76008						
P.O. No.	SALES REP	COORDINATOR				

				KT		YH
ITEM	DESCRIPTION		QTY	COST	CLASS	Total
PARA - IC-CIRC-CR-723029	IC CIRCULATION DESK CORNER RADIUS, 72"W X 30"D X 29"H LAMINATE: CITADEL WARP EDGE & PLASTIC ACCENTS: GRAPHITE FRAME: TITANIUM		1	803.13	TICKNOR	803.13
SS - 01502	CAFÉ TABLE TOP ONLY, ROUND, 30" DIAMETER LAMINATE: HIGH RISE EDGE: 4MM T-MOLD, CHARCOAL		2	93.00	TICKNOR	186.00
SS - 01452	CAFÉ 24"D CIRCULAR BASE - K-8 STANDING HEIGHT 36"H FINISH: PLATINUM		2	180.00	TICKNOR	360.00
SS - 25212BUTCHER	PLANNER STUDIO TABLE, FIXED HEIGHT WITH CASTERS, 36"D X 7 X 29"H TOP: BUTCHER BLOCK LEGS: PLATINUM		1	1,047.00	TICKNOR	1,047.00
SS - V21100000P	CASCADE MEGA-CASE AV PRESENTATION CART WITH DOO SHELVES, CASTERS, POWER AND RISER, 19"D X 43"W X 37"H SIDE PANELS: PLATINUM RISER LAMINATE: PEWTER MESH EDGE: 4MM T-MOLD, CHARCOAL) H	1	1,287.00	TICKNOR	1,287.00

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

QUOTATION

DATE	QUOTE #			
6/2/2020	11642-1			

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008		2	STUARD ELEM 200 THUNDER ALEDO, TX 760				
** Ouote	e good for 30 days**	P.O. No.		SALES R	EP	P COORDINATOR	
	- <u>5000</u> 101 00 00,00			KT		ҮН	
ITEM	DESCRIPTION		QTY	COST	CLASS		Total
SS - B10008040P		SIDE PANELS: PLATINUM			TICKNOR		3,240.00
SS - 19199	DRAWER PEDESTAL, BOX/BOX/F	CASCADE FREE STANDING, MOBILE DRAWER PEDESTAL, BOX/BOX/FILE PEDESTAL 21"D X 16"W X 30.25"H SIDE PANELS: PLATINUM			TICKNOR		303.60
SS - 55001	ROUND OTTOMAN, 26" DIA X 15" COLOR: BEELINE, ORIOLE	ROUND OTTOMAN, 26" DIA X 15"H COLOR: BEELINE, ORIOLE		389.40	TICKNOR		389.40
SS - 55000	SOFT ROCKER UPHOLSTERED FO ROCKING LOUNGE CHAIR COLOR: BEELINE, ORIOLE			419.40	TICKNOF	Ł	1,677.60
VS - 03826	SOLO STOOL, 4 FOOTRESTS AT DIFFERENT HEIGHTS, 20"H SEAT: ORANGE FRAME: ARCTIC	DIFFERENT HEIGHTS, 20"H SEAT: ORANGE		118.40	TICKNOF	٤	710.40
FREIGHT	FREIGHT	FREIGHT		2,420.00	TICKNOR		2,420.00
INSTALLATION	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE TRASH	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE		985.00	TICKNOF	ł	985.00

SHIP TO

SALES REP:KELLY TICKNOR

Pricing is based on the quantities listed above. A change in quantities may result in a change in pricing and freight. For any changes please contact your sales representative. SIGNATURE in pricing and freight. For any changes please contact your sales representative.

TOTAL

\$16,927.35

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
5/27/2020	11735

COORDINATOR

SHIP TO
WALSH ELEMENTARY SCHOOL 14113 WALSH AVENUE ALEDO, TX 76008

SALES REP

P.O. No.

			KT		YH
ITEM	DESCRIPTION	QTY	COST	CLASS	Total
SS - 04503	INTERCHANGE SINGLE STUDENT WING OPEN FRONT DESK, BOOK BOX, 23.5"D X 41"W X 21.5-31.5"H (BACKPACK HOOK) TOP: 1-1/4" WITH 4MM T-MOLD LAMINATE: SILVER ALCHEMY 4860-60 EDGE: CHARCOAL FRAME: PLATINUM		181.33	TICKNOR	20,671.62
SS - ELENTR	ELEMENTAL ENGAGE TRAPEZOII TABLE, ADJUSTABLE HEIGHT 21.5 35.5"H TOP: 1-1/4" WITH 4MM T-MOLD LAMINATE: SILVER ALCHEMY 4860-60 EDGE: CHARCOAL FRAME: PLATINUM		228.80	TICKNOR	3,660.80
SS - 17576	3" DUAL WHEEL CASTER PACK, S OF 4, ALL LOCKING, FOR INTERCHANGE DESKS AND TRAPEZOID TABLES COLOR: BLACK	ET 130	40.53	TICKNOR	5,268.90
SS - 33848	GROOVE STACK CHAIR 16"H B-SHELL, 18.5"D x 17.5"W x 16"H, V NYLON GLIDES SHELL: CHARCOAL FRAME: PLATINUM	VITH 48	52.80	TICKNOR	2,534.40

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

QUOTATION

DATE	QUOTE #
5/27/2020	11735

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008		WALSH ELEMENTARY SCHOOL 14113 WALSH AVENUE ALEDO, TX 76008						
** Ouote	e good for 30 days**	P.O. No.		SALES R	EP	EP COORDINATOR		
Q				KT				
ITEM	DESCRIPTION		QTY	COST		CLASS	Total	
SS - UPCHARGE	SMITH UPCHARGE FOR SPECIAL LAMINATE		1	400.00	TICI	KNOR	400.00	
FREIGHT	FREIGHT		1	935.00	TICI	KNOR	935.00	
INSTALLATION	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE TRASH		1	3,845.00	TICI	KNOR	3,845.00	
SALES REP:KELLY TICKN	OR							

SHIP TO

Pricing is based on the quantities listed above. A change in quantities may result in a change in pricing and freight. For any changes please contact your sales representative. SIGNATURE in pricing and freight. For any changes please contact your sales representative.

TOTAL

\$37,315.72

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #
5/27/2020	11633-1

COORDINATOR

SHIP TO WALSH ELEMENTARY SCHOOL 14113 WALSH AVENUE ALEDO, TX 76008

SALES REP

P.O. No.

			KT		YH	
ITEM	DESCRIPTION	QTY	COST	CLASS	Total	
SS - 04156	INTERCHANGE CRESCENT TABLE 36"D X 72"W X 22-34"H LAMINATE: CLASSIC LINEN EDGE: 4MM T-MOLD, CHAMPAGNE FRAME: PLATINUM	6	372.80	TICKNOR	2,236.80	
SS - 121V00000P	CASCADE MINI-CASE WITH CASTE DOOR, SHELVES & RISER, 19"D X 21"W X 37"H SIDE PANELS & DOOR HANDLE: PLATINUM RISER TOP: BOARDWALK OAK EDGE: 4MM T-MOLD, CHAMPAGNE		432.53	TICKNOR	1,730.12	
SS - 910W09093P	CASCADE MEGA TOWER WITH CASTERS, OPEN, WITH (9) 3", (9) 6", 12" TOTES WITH WHITE BOARD BACK, 19"D X 43"W X 61.4"H SIDE PANELS: PLATINUM	, (3) 3	1,169.07	TICKNOR	3,507.21	
VS - 03825	HOKKI, PLASTIC STOOL FOR ACTI SITTING - STANDARD SEAT, 18"H (BLUE DOT) COLOR: ORANGE	VE 15	92.80	TICKNOR	1,392.00	
VS - 31400	PANTOSWING-LUPO, FORWARD-FLEXING CANTILEVER CHAIR, POLYPROPYLENE SHELL, 18"H (BLUE DOT) SHELL: BLACK GREY FRAME: ARCTIC	40	98.40	TICKNOR	3,936.00	

PH: 972-862-9900 FX: 972-862-9990 TAX ID# 26-3563443

NAME / ADDRESS

ALEDO ISD ACCTS PAYABLE 1008 BAILEY RANCH ROAD ALEDO, TX 76008

QUOTATION

DATE	QUOTE #		
5/27/2020	11633-1		

COORDINATOR

	SHIP TO
	WALSH ELEMENTARY SCHOOL 14113 WALSH AVENUE ALEDO, TX 76008

SALES REP

P.O. No.

** Quote good for 30 days**

				KT		YH	
ITEM	DESCRIPTION		QTY	COST	CLASS	Total	
FREIGHT	FREIGHT		1	1,060.00	TICKNOR	1,060.00	
INSTALLATION	LABOR TO RECEIVE TRUCKS, UNLOAD, INSTALL AND REMOVE TRASH		1	1,195.00	TICKNOR	1,195.00	
SALES REP:KELLY TICKNOR			1	OTAL		\$15,057.13	

Pricing is based on the quantities listed above. A change in quantities may result in a change in pricing and freight. For any changes please contact your sales representative. SIGNATURE